[image: image1.jpg]e problems i

1enotype of =&

SROBLEMS INVOLVING THE INTERMEDIATE PATTERN OF INHERITANCE

U zach of these problems.
« our vour work clearly in your notebook.

The following pedigree is for a family showing the inheritance of curly and straight hair.
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2. Use the symbols  C = curly hair
S = straight hair to show the genotypes of individuals 1 to 13
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5. What is the chance that the next child born to (1) and (2) will have wavy hair?
_What is the chance that the next child born to (1) and (2) will have curly hair?
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What is the chance that the next child born to (10) and (11) will have curly hair?
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. What is the chance that the next child born to (10) and (11) will have straight hair?

Two genes, N and M control a form of anaemia called thalassaemia.
The effect of different genotypes is given in this table:

Genotype Phenotype
NN normal
NM Minor anaemia

Major anaemia (usually the child dies at a
young age
T T,

MM
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a. What would be the ratio of different genotypes expected amongst the children of a man
and woman who both had thalassaemia minor?

b. What chance is there that the couple could have a child with thalassaemia major?
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